
1

Conservation Partner 
Hem Chand Mahindra Foundation

O�cial Knowledge Partner 
In association with

CLASS 9

Instructions
NEW Marking Scheme and Evaluation Format

Total marks for the examination:  70

Total time duration for the examination: 1 hour and 30 minutes

Breakup of questions:

SECTION I: OBJECTIVE

Duration: 1 hour
44 MCQ QUESTIONS: Each question bears 1 mark each, there are 6 Leaf marked questions which bear 2 marks each.

Total marks for SECTION I is 50

These 6 sub-heads for SECTION I are as follows:
Flora – Plant life; 9 questions including 1 Leaf question
Fauna – Animal life; 9 questions including 1 Leaf question
Terra – Geography and environment ; 9 questions including 1 Leaf question
Aqua – Aquatic life and water bodies; 4 questions including 1 Leaf question
thInQ – Logical reasoning; 4 questions including 1 Leaf question
Mixed Bag – General awareness on environment and natural world; 9 questions including 1 Leaf question

All questions are multiple choice questions with four options – A, B, C and D Mark the correct or most
appropriate answer in the OMR (answer) sheet.

Using a dark pencil or a dark-inked pen, colour the correct option completely,  
as shown on the OMR (answer) sheet.

SECTION II: SUBJECTIVE
 
Duration: 30 minutes
1 Picture Composition

Total marks for SECTION II is 20

Turn over the OMR sheet provided to you and write in the space provided.  
You can attach an extra sheet signed by your invigilator if you need more space.

You can only use a black pen to write the composition. Both gel or ball point pens are allowed.
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1. Which of the following is a proposed biosphere 
reserve, where unique ecotone of Teak and Sal forests 
exist and the famous Kotamsar Cave (250m long cave 
with stalactites and stalagmites) are found? 
A) Nokrek
B) Nilgiris
C) Kanger Valley
D) Bandhavgarh

2. Ficus is a genus of trees, popularly called figs, 
although the fig that we consume commercially is just 
one variety. Which of the following is NOT a Ficus/fig 
species?
A) Teak		  B) Banyan
C) Peepal	 D) Anjoor/Anjeer

3. This ‘dry fruit’ is actually a seed, attached outside a 
large fleshy fruit. This tree, although found commonly 
along low-elevation and drier areas along the West 
Coast, is not native to India. It was brought to India by 
the Portuguese, from Brazil – their colony on the other 
side of the world. What is this common dry fruit?
A) Cashew
B) Date
C) Pistachio
D) Almond

4. Rhododendrons are woody trees found mainly in 
Asia and are well-known for their showy flowers. 
Which Rhododendron is the state tree of Sikkim?  
A) Common Rhododendron
B) Pink-bell Rhododendron
C) Azalea Rhododendron
D) Buransh Rhododendron

5. Cinchona is a genus of trees native to the Andes in 
South America. It is one of the few species that have 
quinine, a compound essential in fighting a particular 
disease that is found across the tropics, including 
India. Consequently, this tree was planted in many 
parts of India and Sri Lanka, whee this disease was 
prevalent. Which disease?
A) Diptheria
B) Filaria
C) Fungiform encephalitis
D)  Malaria

6. Arrange the following groups of plants in the order 
in which they evolved, starting with the oldest:  Ferns, 
Angiosperms, Gymnosperms, Bryophytes
A) Angiosperms, Gymnosperms, Ferns, Bryophytes
B) Ferns, Bryophytes, Gymnosperms, Angiosperms
C) Bryophytes, Ferns, Gymnosperms, Angiosperms
D) Bryophytes, Ferns, Angiosperms, Gymnosperms

7. Deciduous trees are trees which lose all their leaves 
during a particular part of the year. Which of the 
following statements about deciduous trees is true?
A) Deciduous trees only lose their leaves when it is cold
B) Deciduous trees only live in temperate climates
C) Many deciduous trees flower when they’ve lost their 
leaves
D) Australia has no native deciduous trees

Flora

Fauna

8. To experience the cherry blossom in which month 
would you travel to Japan?
A) January	 B) April 
C) December 	 D) February

9. What is the main function of the stilt roots?
A) Aeration	 B) Storage of food 
C) Support 	 D) Nutrition

10. When females of some species are able to 
reproduce without males through a process called 
parthenogenesis. Which of the following is true about 
the offspring born through this process in case of 
bees?
A) The offspring will be haploid males
B) The offspring will be females
C) The offspring will be sterile
D) The offspring will be born dead
D) All of the above 

11. The Duck-billed Platypus is famous for being a 
mammal and yet laying eggs. Which is the only other 
mammal, close relative of the platypus, which also 
lays eggs?
A) Tasmanian Devil	 B) Kangaroo
C) Wombat		  D) Echidna

12. In 1997, there were about 200 species of 
amphibians in India. Since then there have been many 
discoveries, mostly frogs but also some limbless long 
creatures known as caecilians. How many do you 
think are there right now?
A) 200-250	 B) 250-300
C) 300-350	 D) 350-400

13. Which is the largest cat of South America?
A) Puma 	 B) Jaguar
C) Caracal	 D) Lynx 

14. Where is the vulnerable Sun Bear found?
A) Sri Lanka
B) Central Africa
C) South America
D) Southeast Asia

15. Spiders force out proteins from their bodies under 
immense pressure to produce the silk. What are 
the organs located at the tip of the abdomen, which 
manipulate the silk, called?
A) Spinnerets	 B) Pedipalps
C) Chelicerae	 D) Epigynums

16. Venomous and poisonous can be confusing, but 
they are different. An organism that creates a wound 
(however small) and injects some amount of toxin 
either in defence or for prey is called a venomous 
creature. Poisonous creatures do not create a wound.
The dart frogs of South America have been used by 
hunters to extract toxins from its skin and using it on their 
arrows for hunting. So dart frogs are - 
A) Poisonous
B) Venomous
C) Neither
D) Both

SECTION I  Duration: 1 hour  Marks: 50
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Terra Aqua

thInQ

17. Dodo, a large flightless bird, was hunted to 
extinction when humans arrived 
on its homeland. To which island in the Indian Ocean was 
the Dodo endemic? 
A) Maldives
B) Java
C) Sri Lanka
D) Mauritius

18. Which statement is correct about Baluchistan 
Pygmy Jerboa?
A) It is the smallest rodent in the world
B) It is a rodent 
C) It has a small body but a tail longer than its body
D) All of the above  

19. Which are the highest peak in the Nilgiri range, 
and the fourth highest peak in the Western Ghats 
which literally translates to ‘Big Mountain’ in the local 
Badaga language?
A) Meesapulimala		 B) Anamudi
C) Mannamalai		  D) Doddabetta

20. Which bio-geographic zone of India sustains the 
largest number of endangered species?
A) North-east India	 B) Central India
C) Islands		  D) Coasts

21. The famous Antelope canyon is in which city and 
state of United States of America?
A) Page, Arizona
B) Kern County, California
C) Richland, Washington
D) Dallas, Texas 

22. When did the Indian subcontinent join south Asia? 
A) Around 120 million years ago
B) Around 80 million years ago
C) Around 60 million years ago
D) Around45 million years ago

23. Only 3% of the world’s water is fresh water. But 
what percentage of world’s water is readily available 
for us as drinking water?
A) Entire 3%
B) Half of it, hence 1.5%
C) 1%
D) Less than 1%

24. The Jangil tribe, an aboriginal tribe of the Andaman 
Islands, was declared extinct in 1931. What is thought 
to be the main reason for their extinction? 
A) Hunting areas taken over by foreign settlers
B) Diseases introduced to which the tribal people had no 
natural immunity
C) Executed by the British colonizers
D) All of the above

25. Mauritania is a country in Africa to which coast of 
the African continent does it lie?
A) East		  B) West
C) North 	 D) South

26. What are lines on a map representing equal values, 
such as temperature, elevation or wind speed, called?
A) Isolines	 B) Tachylines
C) Plats		  D) Plot Lines

27. This gap in the Western Ghats is a major source 
of speciation, especially with frogs and some birds. 
Named after a district in Kerala that borders Tamil 
Nadu, it very close to Coimbatore and forms a low-
lying plain of about 40km between the NIlgiris and the 
Anamalais. What is this gap called?
A) Idikki gap
B) Palakkad gap
C) Pathinamthitta gap
D) Wayanaad gap

28. In the Sunderbans of Bangladesh, the fishermen 
have a very odd animal as a pet. They use this animal 
to flush the fish into their nets and these animals take 
the ones that flee the net as a reward – a win-win 
relationship. Identify this aquatic mammal which lives 
in groups in river systems and coasts.
A) Otter
B) Ferret
C) Stoat
D) Mongoose

29. Which of the following is the fastest swimming fish 
in the world?
A) Indo-Pacific Sailfish
B) Great White Shark
C) Atlantic Bluefin Tuna
D) Pacific Salmon

30. Farakka and Teesta are examples of this. This is an 
artificial barrier constructed across a river or estuary 
to prevent flooding, aid irrigation and/or navigation 
and generate electricity by tidal activity. Both of these 
examples however indicate how disadvantageous 
they are – not only do the vastly reduce fish catch be 
restricting migration but also distrupt the siltating 
regimes to lead to fast unexpected flooding and 
emergence of more land. What is this structure?
A) Arch Dam
B) Fish-ladder
C) Barrage
D) Check dam

31. Puffer fish is known to be lethal to humans in some 
cases, which neurotoxin does this fish consist of?
A) Tetrodotoxin
B) Mycotoxin
C) Cytotoxin

32. Which of the following words is the nearest in 
meaning to the underlined word?
Several prisoners-of-war were liberated.
A) Revealed
B) Resolved
C) Resisted
D) Released
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Mixed Bag

33. Take the two given statements to be true and 
decide which one of the inferences can be definitely 
drawn from these statements.
Statements:-
All the students passed examination. 
Some of the students are girls.
A) Some of the boys passed the examination.
B) All the girl students failed in the examination.
C) None of the boys passed the examination.
D) No girl student failed in the examination.

34. I left home for bringing milk between 7am and 
8am. The angle between the hour hand and the minute 
hand was 90°. I returned home between 7 am and 8 
am. Then also the angle between the minute hand and 
hour hand was 90°. At what time (nearest to second) 
did I leave and return home?
A) 7h 18 m 35s & 7h 51m 24s
B) 7h 19m 24s & 7h 52m 14s
C) 7h 20m 42s & 7h 53m 11s
D) 7h 21m 49s & 7h 54m 33s

35. Observe the image and answer the following

 
A) 168
B) 148
C) 444
D) 172

36. At the time of Indian independence, most areas 
of rich biodiversity were hardly known, let alone 
protected. Since then, several conservationists have 
dedicated their lives to certain protected habitats and 
ensured their protection for natural posterity. Can 
you match these famous conservationists with the 
protected areas they saved? 
Conversationalist		 Area
1) King of Junagadh	 a) Ranthambhore National Park
2) Kailash Singh Sankhala	 b) Dudhwa National Park
3) Billy Arjan Singh	 c) Dachigam National Park
4) Maharaja of Kashmir	 d) Gir National Park
A) 1-d, 2-c, 3-b, 4-a
B) 1-a, 2-c, 3-d, 4-b
C) 1-d, 2-a, 3-b, 4-c
D) 1-a, 2-b, 3-c, 4-d

37. Which pain killer drug used in cattle caused an 
alarming decline in the population of vultures in the 
Indian Subcontinent and was eventually banned as a 
result?
A) Paracetamol
B) Diclofenac
C) DDT (dichlorodiphenyltrichloroethane)
D) Aspirin

38. Jairam Ramesh was succeeded by Jayanthi 
Natarajan as Minister for Environment and Forests in 
the previous UPA government. Who followed her, one 
who was controversial with Greenpeace calling him 
‘Oily _________’ for his alleged closeness with the oil 
lobby?
A) Praful Patel		  B) Montek Singh Ahluwalia
C) Veerappa Moily	 D) S M Krishna

39. In the early days of space exploration, several 
animals were sent to orbit around the Earth. These 
included fruit flies, mice, dogs, and monkeys. Why 
were no birds ever sent into space?
A) Hygiene considerations
B) Birds are difficult to contain and they might interfere 
with instrument panel
C) They might fly off and start mutating on the moon
D) Birds need gravity in order to swallow

40. Melanism is a special characteristic where the 
melanin pigment increases, creating a ‘darker’ form of 
the same species. It is the most common among the 
big cats, and is usually helpful to them in adapting to 
their surroundings. It is also hereditable. Identify the 
character from Rudyard Kipling’s ‘The Jungle Book’ 
that displayed melanism.
A) Baloo		 B) Sher Khan
C) Kaa		  D) Bagheera

41. In which year was the Environmental Protection 
Act enacted?
A) 1980		  B) 1978
C) 1986		  D) 1991

42. Who is the current minister for environment and 
forests, from the state of Gujarat?
A) Narendra Modi		 B) Anil Dave
C) Anandiben Patel	 D) Dr. Harsha Vardhan

43. Which out of the following is correct about a 
bobcat?
A) Small tail 
B) They mainly feed on rabbit and hare
C) They do not have fur but skin
D) Both A and B

44. Do Cacti flower? 
A) Yes
B) No
C) Yes, some of the cactus species flower
D) None of the xerophytes flower
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SECTION II Duration: 30 minutes Marks: 20

Write about what the cartoon is trying to say and why it is important for us  
in the world we live in. 

Marks will only be given for content and original expression and not for style, 
vocabulary or handwriting.

Copyright:
Unauthorised reprint or use of this material 
is prohibited. No part of this paper may be 
reproduced or transmitted in any form or by 
any means, electronic or mechanical, including 
photocopying, recording, or by any information 
storage and retrieval system without written 
permission for the publishers.

www.facebook.com/saevusNature www.twitter.com/saevus_wildlife

Saevus Wildlife India LLP, 302, 3rd floor, Powai Plaza, Hiranandani Gardens, Powai,  
Mumbai - 400076. Phone: +91 022-40660100 Email:  olympiad@saevus.in



1. C 12. D 23. D 34. D

2.A 13. B 24. B 35. A

3. A 14. D 25. B 36. C

4. D 15. A 26. A 37. B

5. D 16. A 27. B 38. C

6. C 17. D 28. A 39. D

7. B 18. D 29. A 40. D

8. B 19. D 30. C 41. C

9. C 20. C 31. A 42. D

10. A 21. A 32. D 43. D

11.D 22. C 33. D 44. A
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